
P. 扫线装置 / Thread wiper mechanism

参照号 零部件序号 数量 零部件名称 NAME OF PARTS RM

1 SA9777002 1 扫线装置总组件 THREAD WIPER SET
2 SA9768102 1 扫线装置组件 THREAD WIPER DEVICE ASSY
3 SB2084001 1 挡线电磁铁 THREAD WIPER SOLENOID
4 SA9771001 1 挡线弹簧 THREAD WIPER SPRING
5 S41205001 1 平垫圈 WASHER, PLAIN
6 062300616 2 螺钉 M3X6 SCREW PAN M3X6
7 026030136 2 平垫圈 S3 WASHER PLAIN S 3
8 SB4155001 1 线夹 BAND
9 SA9356001 1 电磁铁基座 THREAD WIPER BASE
10 SA9773001 1 电磁铁罩 SOLENOID COVER
11 060400516 1 螺钉 M4X5 SCREW BIND M4X5
12 SA9774001 1 扫线曲轴组件 THREAD WIPER CRANK ASSY
13 048040342 1 挡圈 E4 RETAINING RING E4
14 SA9352001 1 弹簧 WIPER SPRING
15 SA9778101 1 扫线连杆 THREAD WIPER ROD
16 110735002 1 垫圈 WASHER
17 048030342 1 挡圈 E3 RETAINING RING E3
18 S25456001 1 柱塞销 PLUNGER PIN
19 SB4244001 1 扫线杆 THREAD WIPER
20 060400516 1 螺钉 M4X5 SCREW BIND M4X5
21 146288021 1 挡线轴挡圈 THREAD WIPER STUD COLLAR
22 SA8085001 1 垫圈 WASHER
23 S25456001 2 柱塞销 PLUNGER PIN
24 S41207000 1 橡皮垫圈 SPACER RUBBER
25 SA1394101 2 线夹U3 CORD HOLDER U3
26 062500816 2 螺钉 M5X8 SCREW PAN M5X8

S-7220D-405
40


